Outline
The Problem
America’s Economy

Unsustainable 
As government spending decreases and taxes for the wealthy drop, wealth will become more concentrated in fewer people. The economy is driven by spending. The rich, though able to spend vast sums of money, do/will not do so in proportion to the number of middle class people who have become poor. Therefore, total spending in the economy will decrease. With further spending decreases, the economy will collapse when most of the people cannot afford basic amenities and the rich do not spend enough of the money they do have to keep the country at full employment.

The consolidation of wealth in a smaller portion of the population will lead to depression as spending dramatically falls.
Leads to Monopoly in all markets

Extrapolate from basic principals of micro economics

Leads to polar divisions between the upper and lower class

Sociological implications (how this division can be observed, how it may manifest itself in later stages; think uprisings; note why uprisings are unlikely at this point in time)

Inefficiencies and Liabilities
*This is where you draw out what is the “meat” of the problem. Each one of the subtexts here should be covered in a major section under “Solutions” later on in the work.*

Executive Pay 
Executive pay increasingly rewards executives extravagantly for short term gains regardless of implications. Even current long term incentive programs do nothing to change this behavior. 
Health insurance 
Health insurance is an inefficient way to pay for health care. Insurance is meant to mitigate risk by aggregating risk. However when the risk is 100% no matter what the circumstances, insurance is a terrible mechanism to pay for something. This would be like selling water consumption insurance. Everyone needs water. The insurance claimants for water would be 100% of the customer base. Therefore, the only way for an insurance company to make a profit would be to charge premiums that are equal to the amount paid out for the claims plus administrative costs, plus whatever profit margin the insurance company is expected to attain. Health care is the same way. Requiring that everyone be allowed to have insurance and forcing insurance companies to keep customers even though they have a bad risk puts consumers and insurance companies in the same situation as water consumption insurance would. Using an insurance mechanism to pay for healthcare is clearly inefficient. 
Energy 
Energy policy is highly inefficient for several reasons. We rely on too few sources for energy (not just electrical) production, most of which are non renewable sources. Relying on one type of fuel for transportation leaves the economy highly vulnerable to changes in supply, availability, and price. 
Education 

Purposed Problem Ideas

Currently, we have a one-size-fits-all approach to education. This particular approach takes all the children of a certain age group, regardless of prior education or learning ability and teaches them all the same information at the same rate of speed. This produces two major undesirable outcomes: some students are taught much faster than their natural rate and some are taught much slower than their natural rate. The students that are taught faster than their natural rate are almost entirely doomed to failure. Mastery, especially early on in a child’s life is critical. If a child has not significantly mastered a subject (scoring 90% or above on all measures of mastery) then they are not ready to move on to the subsequent subject. Unfortunately, moving these children forward happens all too often in our present school system. Equally as tragic are the students who are taught much more slowly than their natural rate of learning. Students who are taught too slowly suffer from being bored and inattentive in the short run. In the long run, these students fail to develop the skills needed to master more complex subjects as they do not have any legitimate practice at studying. The end result of this one-size-fits-all approach is that some students are properly educated and many students that are undereducated. 

It is also fallacy to assume that individual students have a constant learning rate. At different points in their education, students will learn at different rates and these rates will also vary by subject.
Tax Structure

Reliance on one type of fuel for transportation of commerce

Sub par education system achieves less than desirable results leading to importation of highly skilled workers

America’s Economic History

Origins of Money and Banking
In order to fully understand many of the economic events of the last 160 years, we need to examine the history of money and banking. Specifically, we need to understand how banks create money and what issues can arise from completely unmonitored banking. 

The creation of money is an economic eventuality that cannot be avoided. When a trade economy is developing, barter is the form the trade takes. Bartering is when two or more parties exchange goods or services without the aid of a currency or money. For example, Person A may trade Person B a sheep for driving lessons, or a box of crackers for a wrist watch, or math tutoring for lawn grooming. There are two major problems with a barter economy. The first is what is called the “double coincidence of wants.” For barter to work, all parties involved have to value what the other party is offering. Not only to they have to value it, they have to value it more than what they themselves are offering. If Person A is offering Person B a chicken in trade and Person B has no use for or has a surplus of chickens, then the trade will not happen. The second problem is that of assigning value. When bartering it is very difficult to determine the value of a good or service with respect to the good or service it is being traded for. There becomes a problem when a person has to try to determine how many toaster ovens to trade for a cow, or how many wrist watches to accept for dental services. When an economy reaches this point in its evolution, a standard unit of value is created. This standard unit can take many forms; it can be chickens, cigarettes, or even metallic discs. This standard unit of value is also referred to as money or currency. 

Once money exists, the key issues become how to assign value to money and how to maintain the value of money. There are two major factors that give money value and two major uses for money. The two major uses for money are to trade goods and services and as a store of value. This means that money is either used to define the value of goods and services or is used to maintain wealth without needing to have one over every possible thing someone else might want to trade. The first and most important factor that assigns money value is people’s willingness to accept the money. A currency based on seeds is useless if no one is willing to accept seeds in trade. The second factor that influences the value of money and indirectly people’s willingness to accept it is scarcity. If the money supply is not controlled or regulated, or the supply is easily reproduced (chickens or tobacco leaves), a lack of scarcity (too much money) in the system will cause the money to lose value. 

One technique used to control scarcity is to back the currency with some commodity that everyone values. One example is a “gold standard” where the currency is backed by the economically accepted value for gold. This is really just using gold as the currency and using paper as a proxy to represent the gold. This technique has the psychological effect of allowing people to think that their money is safe because they can trade it in for gold (or any other commodity) at any time. The problems with  this solution are two fold. The first is that the value of the currency is beholden to the price of the commodity that backs it. If there are any fluctuations  in the price of the commodity that is backing the currency, the value of the currency fluctuates too. The standard remedy to this price fluctuation is to fix the price of the commodity by law to a certain amount of currency. In the gold standard example, it would be like seeing the price of gold to be $32 an ounce. Setting an immovable price for the commodity backing the money leads to a black market for the commodity if the price on the world market is higher than the legalized price in the commodity backed money system. Furthermore, a set price leads to the second problem with a commodity backed monetary system and that problem is one of growth. When every denomination of a currency is back by gold, or gold and silver, or oil, or any other commodity deemed to hold value, the growth of the macro economy is limited to that monetary system’s reserves of that commodity. For example, if on a gold standard, a country can only have as much money in circulation as they have gold in reserve. The economy can only ever grow by adding more gold, or more of the commodity backing its currency to its reserves. If there are no other substantial sources of this commodity, the economy will reach a peak size and never grow again. If an economy is not growing it cannot support more participants. If more participants join an economy of a fixed size, then the average share of the economy for each participant shrinks. Additionally, since these commodities must be held in reserve to ensure the value of the currency, they cannot be used in industry for production. Such a situation leads to the need of a commodity that is worthless to industry but for some reason still holds value in the macro economy.

For the preceding reasons,  most countries adopt a currency that is not backed by a commodity and they attempt to control their currencies’ values through scarcity.

Now that we have a better understanding of money, particularly with respect to how and why it is created, we need to examine the history of banking. The actual history of banking is varied and nuanced, it can be best summarized in an anecdote encountered in an Introduction to Macroeconomics class:

“Banks started as safes in gold smiths’ shops. The currency at the time was gold. When people had a large quantity of gold they wanted to keep it safe. The safest place in town to keep gold was the local gold smith’s safe. At first, people would go in to the gold smith’s shop and withdraw their gold so they could go out shopping and then redeposit the gold when they were done. This became cumbersome and time consuming. Soon the deposit receipts that indicated how much gold was being held in the safe became the item that was being traded instead of the physical gold. Now, the gold smiths ended up with large quantities of gold in their vaults that never moved anywhere because everyone was trading deposit slips as a proxy for the gold in the vault. Gold smiths were able to make money by charging vault fees and creating jewelry with their own supply of gold. At some point, someone came to a gold smith with a proposition to loan gold out of the vault with the intension of paying it back in full plus a small fee. When this loan was paid back in full including some small form of interest, the gold smiths realized they could make more money by loaning out the gold and collecting interest on the loans. The problem the gold smiths could run into was if someone came looking for their gold and they did not have it, there could be a panic that caused everyone to come in and demand their gold. The gold smiths had a plan for this. They would hold back some of the gold in reserve so that if a deposit receipt holder did come in, they could show them that the gold was safe and had not gone anywhere. This meant that they showed every customer the same gold, but as long as the ruse worked, everything ran smoothly. However, at some point someone did find out that not all of the gold was in the vault and just such a panic ensued. Everyone rushed to the gold smith to reclaim their gold before what little was in the vault ran out. Such a panic spread from town to town and the economy collapsed.”

The above anecdote is not historically factual in that there is no one point in history that this story can be pinned down to. However, the tale is very instructive in two ways. First it gives a very good impression of how simplistic banking works today. Second, it foretells some of the pitfalls that should be avoided. In the anecdote, we see that banks create money in the system by making loans to others. For example, if Person A makes a $1000 deposit and the bank then loans out $900 to Businessman B, the bank does not tell Person A that they cannot withdraw $500 when they come in.  The bank covers these standard day to day withdraws from deposit with their reserve funds for such eventualities. Thus, Person A could come in and withdraw all $1000 and Businessman B would still have the $900 he was loaned. Now there will be $1900 in the system where there was previously $1000. The bank can continue doing this so long as not enough of the bank members come in and demand to withdraw all of their deposits. However, such a scenario is not impossible to imagine. This is why central banks such as the Federal Reserve Bank were created. If such a disaster does happen, the bank can then go to the central bank to get the money for the deposits they can not currently cover. 

The anecdote also gives us a few other insights. First, it gives an understanding why people may expect their currency to be backed by a commodity. For hundreds of years, the pieces of paper that were traded were merely light weight representations of something else that held value instead of the pieces of paper themselves holding value. It is understandable then that some people feel uneasy when they find their currency is not backed by any material good. Also, the narrative shows us the beginnings of an idea for a reserve requirement. Governments understand that for an economy to function properly, loans will need to be made and this will create money in the system. However, they also understand the pitfalls of banks not having enough money on hand to cover day to day transactions and too much money flooding the system. Naturally, the incentive for banks is to loan out as much money as possible because the more they loan out, the more they can collect in interest payments. Therefore governments enact what are called reserve requirements to save the banks from themselves. These reserve requirements tell the banks, for example, that for every $1.00 in deposits they must keep $0.20 in reserve. In fact reserve requirement changes are the most powerful tool central banks have in controlling the money supply. Even small changes in the reserve requirement can add or subtract large sums of money to the money supply. For this reason, most central banks use reserve requirement changes as a last resort in monetary policy. 

Now that we have a firm grasp of the origins on money and banking we can now further appreciate the economic history that leads us to where we are today.

Boom and bust of the latter half of the 19th Century

Panic of 1873

The Rise of Anti-Trust

The Rise of Regulation

One fuel source economy of 1970’s

The Rise of Deregulation

Consequences of Deregulation

Historical results of deregulation. Not to be confused with penalties of deregulation.
The Solution

Health Insurance

Explanation of Insurance to mitigate risk
Description of ideal system for a natural monopoly

Why the government should provide heath care for its citizens
Energy

Reiterate case for “natural” monopoly

To function properly an electrical grid of any size has to be one closed circuit or set of closed circuits. The best way to most effectively regulate the flow of electrons in any closed system is to be able to monitor all of the parts of the system. That is not to say that total control is necessary to operate a set of closed circuits. However, observation of the whole system is preferable to observations of only a part of the whole system and having to rely on the accuracy of outside information to make decisions. Later on we will investigate a couple of cases that ended with a bad result because of or partly because of insufficient information being delivered to regulators. It must be said that for the purposes of discussing the electric grid, regulators are individuals that regulate the flow of electricity to avoid catastrophe and not government entities that impose rules on electric companies. 
Give examples of Reason for nationalization of Energy grid

Great Northeast Blackout of 2003

Enron energy trading schemes of 2001
Diversification of Energy Sources

 Fast breeder reactors to fulfill energy needs for generations to come.

Reform Infrastructure
Transportation

Education

Purposed Solution Ideas

Education is the one thing that can fix all of the problems previously described. As a general rule, people should dismiss ideas that taut one reason, cause, or solution to any given problem. The should be even more skeptical of ideas that purport to be “cure-alls” for multiple problems. Education is the only example I have found that actually can be the complete solution to multiple problems. The drawback is that it will take quite a bit of time and a shift in the way our society thinks about education.

We need to get rid of this one-size-fits-all approach that we have now in our education system. People learn at different rates. Our education system needs to reflect that idea. If a student can master a subject quickly, they should move on to the next subject. Similarly, if a student is taking longer to master a subject, it should be perfectly normal for a student to continue covering a subject until they do master it instead of moving on with a mediocre understanding.

What this new system will lead to is students excelling to the subject of least proficiency. That is, students will most likely advance quickly until they arrive at a subject the cannot immediately grasp.

Subjects should start out general and gradually expand to specializations. Information should never be intentionally withheld from students who seek it. After completing the basics of a subject, students should be free to choose what specializations of that subject they would like to study further. Students are allowed to pick as many specializations as they like in that subject. There will, of course, be specializations that are required by course curriculum. At the end of our 14 year program students should have the equivelant education of a 4 year college degree anywhere in the world by today’s standards. U.S. colleges may have to re-evaluate their curriculum .

Year round school. 

10 weeks on for Summer Q1

2 weeks off for Fall Break.

7 Weeks on for Fall Q1

1 week off for Thanksgiving

3 weeks on for Fall Q2

3 weeks off for Winter Break

10 Weeks on for Winter Q1

2 Weeks off for Spring Break

10 weeks on for Spring Q1
Tax Structure
